
	
	
	linear or constant
	
	
	constant
	
	linear

	[A-fix]Att_A, Att_V
	mean(A1, PT)
	F(2,40)=136.799
	p<0.001
	
	
	t(10)=11.537
	p<0.001
	a
	F(1,20)=52.749
	p<0.001

	
	
	
	
	
	A1
	t(10)=11.906
	p<0.001
	a
	t(10)=8.152
	p<0.001

	
	
	
	
	
	PT
	t(10)=7.284
	p<0.001
	a
	t(10)=10.761
	p<0.001

	
	
	
	
	
	
	
	
	
	
	

	[V-fix]Att_A, Att_V
	mean(V1, V23)
	F(2,40)=158.364
	p<0.001
	
	
	t(10)=9.864
	p<0.001
	a
	F(1,20)=49.620
	p<0.001

	
	
	
	
	
	V1
	t(10)=8.152
	p<0.001
	a
	t(10)=6.154
	p<0.001

	
	
	
	
	
	V2-3
	t(10)=10.761
	p<0.001
	a
	t(10)=7.675
	p<0.001



